Problem X. (Optional review for the redox balancing quiz!)

For each reaction, Write the balanced oxidation half reaction.
Write the balanced reduction half reaction.
Write the overall balanced redox reaction.

a. Cr + Fe? - > Cr? + Fe
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| -

b. Fe + Fe? --—> Fe* (the Fe and the Fe*® each react to form Fe'?,asin ~ Fe + FeCl, ---> FeCl,)

oxidation: Fe —& Fe*?* + 2e -
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reduction:/ Fe*3 + e~ — Fe+z )XZ
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overall:! Fe M lF“e-‘.; = 3;+q

c. (inACID):  MnO,! + SO, --—--—> Mn" + HSO,!
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oxidation: rf, SOZ*ZHZO — HSOq.—' -+ 3H+‘ +~2e- ) X5

reduction:(j MnOL!——l * ? H+| + 5¢- — Mﬂ+z + HH‘LO) X2
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d. (in BASE) CO + LOs --—-- > CO, + 1,
¥2 -3 +5 -2 Yy -2 o

oxidation: __ CO + 2em” —? CO?- ~ 2e- ~ U0

reduc%o]#:zo* IQ_Or; +10 e- ) T, + 10 OH-~

overall: S CO + |0 OH” + SHeD + T,0 SCDZ + 5 HaD « Iz"\¢0ﬂ‘

SCOo « I,068 — 5C02 + I,



e. (in BASE) L + CrO? ----- > Cr(OH); + 10,"
o +b -2 +3 “Lay +37 -2

oxidation: Iﬂ +*JOoH — ?.IOQ.- + be- + YHio

reducticé:ze"" C('Oq-z +« 420 — Cr (0"”3 +S5 04" ) X Z
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overali:_Tg + DEN"+ 20c04> +E W0 = 2 O, + UH{D* 2LrloH);+ lPoH"
| I+ 2¢c04% +4Hi0 —> 2 To™ + 200 (0H)y* 2oH’ﬂ

f. (in ACID) OOH + _SbO,' —-> CO, + Sb
# 2 4\ +3) -2 +4 -2 o
oxidation: [ H COOH — CDa2 * 2e- + 12 H+l ) %3

reductioége' + SLOQ-I - LI H+‘ == SL + 2- H‘Lo ) \LZ

o3 _HCOOM + 2 5h07"+ 9 H'— 300, ¢ 25+ %!+ Yizo

‘_____.g#:--l
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g. (in BASE) M002 + *Hz%zD--——-> o, + l\g % Hus o«
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reductio, (Dﬁ"l‘ MQ‘ )1.* ""_‘IH‘LO _ MD * j_QHL; S O

overall:%ﬁ "'3'”7.0 ¥ MOOH WO—" g Oz~ %HLO i MD - VOH—

l 2 Ha0s+ MoOy?  —> 2 0q + 2 Mo~ Zoh-+ Mo}

h. Mg + Rh*® - > Mg? + Rh?

oxidation: ( M:I — M@*z -« 22— )XZ.

P
reduction: Rl’\ +b + "l (4l — Rl""'

overall: I 2 Mq - Kh*b — QMq"'z‘ g Kh*z
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